
oo
o
rq
d
tr

to
a

;^,OX
bJl -

de

c
bo li
d&

E^5$=..U e{,

oE
-O

o>
a2

au
(Bc

dd

-o

E5

-2. r
oP

,O

o;.=

ALI
=.4

o.F>\q
oo"
=LO'-=6=
LO
ET
o-
(r<
.i oi

O
oz

o.
F

2

3

(07 Marks)

(06 Nlarks)

(07 Marks)

(07 Marks)

(06 N{arks)

deduce that

(07 Marks)

, (07 Marks)

(06 Marks)
(07 Marks)

c. Express y as a Fourier the second harmonic ven

OR
of rcx - x2 in the interval (0, n)
function (x): 2x-xz in the interval (0,3).

300120 180 240-&..' 0 60
4 5 64 J 2v:

4 a. Find the Half-Range sine series

b, Obtain fourier expansion of the

USN
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c Obtain the Fourier expansion of u the first

18MAT31

(07 Marks)

5

6

7

8

c. Apply Milne's ffector formulae to compute y(2.0) gi
. dv x+vven "- 'wrthdxz

1 2 J :,'.::'.. 4 5x 0

20v 9 18 24 f$,""t"tt"' 26

x 0.0 0.5 1.0 1.5

v 2.000 2.6360 3.5950 4.9680

1^f 1

(07 Marks)

transform of (x) and hence find the

(06 Marks)

(07 Marks)
(07 Marks)

(06 Marks)

ft, l*l.o
lo, l* l> u

sin x_dxvalue of
J
0

ffi' h
s'€;'

rqe "s*jX

b.
c.

transfonn ol e t'*.

4y.: 0 given that yo : A,yt:2
1

OR
-l v

of t(x) : e '" '".and
-i. jlffi,

;'t - 
"--.;t

; m>0. .*fudhence
sln lllx
1+x

dx



9a.

b.

c

10 a.

applying Milne's formula. (07 Marks)
(07 Marks)

1):lcanbe

(06 Marks)

:0rY(
Ld&

"{,* F

'%ffi

1.2 1.3x 1 I '1 ,.""'

2.75t42.2t56 2.1649v 2

2.6725 2.0657Y, 2 2.3178',,:

3 of3

",,i1.r,,,,'"' OR
.1. -d-v dv

equation 2---+=4x*-l-' dx' dx
and the following table of initial values:

.;ft..lrw:ie.'



Third Semester B.E. Degree
Additional M
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: 3 l-rrs.

Note: ,4r.sruer on!' FIVE full questittrrs, choosing Ol\E full questiorr

18MATDIP31

ar. 2022

Max. Nlarks: 100

.from euch moclule.

(07 Marks)

(06 Marks)

(07 Marks)

x b (07 Marks)

la

USN

2

4

aa

-
s:

-
a)

t

'-1t -t=
C-

i

: \.,r:
aI)

,: L

.: c'l
- .1-s.

a>

4<
l'i

-J a)

.I) C

=)=
2;:>-

)-
!'L
l:

L.
t- c-
^fa;
ia

.,'Z
Z=

=J>.L
al)'

--c
Z'
F>
t)

!'<

a
a

'/..

C-
a
c.
E

b

a.

b. De

Express I * i

b. Using Mac

c. Ifu:x+3y2

Module*2

j - k, and b : 4 t-2j - Zk,arc pcrpendicular.
(06 N{arks)

find rts modulus and amplitude. (07 NIarks)

)

3a. [Jsing Eule r's theorenr. provc that xu,

laurin's series , prove

+yuy =*3cotu

2x=l+x

where u-sinl

x' xl x**-+__+
2324

(07 IIarks)vx

x+ y

(06 Marks)

point(1. 1.0). (oTNlarks)

(07 \Iarks)

(06 Marks)

(07 Marks)

1 -s ) clctcrrrrinc its vciocitr
(07 \Iarhs)

c. If u f
v x

5 a. A pafticle l.)to\/cs
and acccleration at 1: 1 sec.

b tiF 2x-i 3yz1+xt-
))

k,ancl <lt=22-x''y, find f (VO) and []x(V$) at(1.-1, 1)

(06 Marks)
)t,.,

a, b, c so that f =(x +2y+az)i+(bx*3y *z))+ (4x+cy+22)kisC Find the constants

inotational.
I of2

(07 Marks)

GBG$$Gffiffi

1+cos0+isin0
l+c0.0-lsln0

=coSfl0+isinn0.

a. obtain Maclaurin's scries expansion fbr?J: function e'upto xa.

, ,l ^ 1

b. II-u ,'in lI-'L l1',ror"thatx$*r$=zta.u.
L **y I cx oy

.Fuauau
. Drove that x 

-+ 
v-+z- = U.'axAyOz



6

7

8

10

lSMATDIP3I

OR

a. I"indthcclircctional dcrivateoir|: xtyz*4xzlat(I,-2,-llalorrg a=2i-1-12t torMarks)
J'

b. Firrcl curl t: givcp thar i : xyz: i+ xy2zj+ x2yzk (06 Marks)

,1c. lf I- =x'i+y'j+z-k and g=yzi+zxJ+xyk . Showthat fx gis asolenoidal vector.
(07lllarks)

a. obtain tl-re reduction ibrrnula, ,,, = |.**' ** *,hcre n is , positive intege r. (07 N{arks)

lrr

h. Irvaluatc I ixydydx . (06 vlarks)
JJ
rl \

Itl
c. Evaluate JJII, +y+z)dxdydz (07 Marks)

000

OR
r r'6

a. E,valuate : Jsinol3xlclx (07 N{arks)

9

i
b- Fvaluate:ixsirr'xcos'' xd x.

I

t)

rl)
c. Evaluate Illrrrdxdydz

0 t) rr

Module-5
a. Solve : (2x + y *.1) dx + (x + 2y + 1) dy:0.
b. Solve : (4xy + 3y- x) dx + (x' + 2xy) dy : 0.

c. Solve : y(2xy + e*) dx - e* dy: g

l,' OR
a. Solve : (5xa + 3*'y' *.,,2xy3)dx + (2x3y * 3x##'- Sy4)dy: o.
b. Solve:y{2xy + 1)dx-xdy:0.

dvc. Solve: " +vcotxjcosx.
clx

**r<r<*

(06 N'Iarks)

(07 Marks)

(07 Ilarlis)
(06 \Ia rlis)
((17 \1a rks)

(07 Marks)
(06 Marks)

(07 \tarks)

2 of2



USN

Time: 3 hrs

)

3

4

Module-3
5 a. Give the node structure te a single linked list of integers and write the functions to

perform the fo
i) Create a list three nodes with data 10,20,30 using front insertion.

40 at the end of list.

2

I

d
O

o

tr

u(
a)
!

4b

6l=

-^ll
,-I

= ^'.,

uF

?q

io-
OO

90

-Xnn
o."o.j

(-
>\ts
tl, O

(r=

-i)
o

o{
* c.l

u

Z

F

b. Write the functions fbr : i)
iii) Reverse a list.

is 30.

Finding the length of the list

1 of2

(10 Marks)
ii) Concatenate two lists' 

(10 Marks)

ii) [nsert a

iii) Delete a

iv) Display

data
data

contents.

Third Semester B.E. Degree Examination, Feb./Mar. z02z
Data Structures and Applications

Max. Marks: 100

Note: Atrswer nny FIVE fttll questiorrs, choosirtg ONE firlt question frortr each ntotlule.

(06 Marks)
(07 Marks)
(07 Marks)

A

a Dcfine Pattern Matching. Write thc Knuth Morris Pratt Pattern rnatching algorithm and
apply the same 1o search the pattern 'abcdabcy' in the text 'abcxabcdabxabcdubry'

b. Write the F'ast franspose algorithrn
Sparse Matrix as triplets and llnd its

(10 Marks)

Module-2
a. Define Stacks. List and explain the various operations on stacks using arrays with stack

overflow and stack underflow conditions. (I0 Marks)
b. Write an algorrthm to convert an infix expression to postfix expression and also trace the

same for the expression (a + b; x d + e/f + c. (10 Nlarks)

10 0 0 25 0

0230 0 45

000032

00000
001000

42 0 0 31 0

(10 i\{arks)
to transpose the given Sparse Matrix. Express the given
trauspose.

(10 Marks)
(04 Marks)
(06 Marks)



6a.

b

C

7a. ii) Complete binary tree
(10 Marks)

b

10 a. Define Hashing 16in any three Hash functions
b. Explain Static
c. Define the

9

(08 Marks)

hashing in detail. (08 Marks)

Organrzation. Explain indexed sequential File Organrzation. (0ul Marks)

2 of 2

18C532

000A

-)

5

0

000
006

10 0 8

0090

(04 Marks)

[-ist or,rt the dif]'erences between single linked list and dor"rble linked 1ist. Write the functions

to perfbrm fbllowing operations or-r dor,rble linked list :

i) htsert a node at rear end o1 the list ii) Delete a note at rear end of the list

iii) Search a node li'ith a given kcy value. (08 N'larks)

Fig. Q!(a)

b. Write the algorithm lor following Graph Traversal methods :

i) Breadth first search ii) Depth first search.

c. Write an algorithm for insertion sofi.

OR
8 a. Draw a Binary tree for the following expression : ((6 + (3-2) *5) ^ 2+ 3.

Traverse the above generated tree using Pre - order and Post - order and also u,rtte their
respective functions. (101\tarks)

b. Write the routines lor :

i) Copying of binary trees i0 Testing equality of binary trees. (10 Nlarks)

Module-5
Define Graphs. Give the Adjacency rnatrix and Ad.jacency list representation fbr the

following graph in Fig. Qgta). (08 Nlarks)

(06 Marks)
(04 Marks)

(08 Marks)
(04 Marks)

g

11

)-
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Third Semester B.E.
Analog a

ar.2022

Tin-ie: 3 hrs. Max. NIarks: l0t)
Note: Answer an! FIVE.futt questiotrs, choosing oIE./ittl questiott fronr eut,h tttrtrlule,

a
,!

-
aL

=
Z

t
a

50*-=
=-

-_
3lr

,* _!

=l

:t)
ar

c>
,,

-, 1)
_!

=
2-

:-'D,C 
^,

=-/t

,94
IOo, |.'Z--
:O
c-

"t, 
c

a:
+a

cz

a)

Z

-r
c
c-

la what is brasr,q'l Mcntron ciitlbre nt r##ft rechniqucs. Explain 
'oiragc 

dr'rde r bras

2

b. Explain relaxation oscillator.
c. \l'ritc a notc on opro coLrplcr.

a. Explarn active filters. Lisr advanror., or?Lre filrers over passive filters.t). Explairr wirh diagram. R-2R laddcr type D to A convcr.rer.c. Definc op-amp. Explain the pcrfbnnancc paraluctcrs o1.op-ant1t.

N{odule_2
a. Explain Don't Care conclition with on.*o*plr
b. Reduce the following functions using K-map technique:

F(P, Q, R, S; : Im(0, l, 4, 8,9, 10; + d(2, I 1 )c. Using Quine McClusl<y,nrctlrocl. simplity rhc. cxpressiorr:
F(P. Q. R. Sr = Irrrr0.3.5^ 6. 1. |.141

Writc the gatc diagram lor tltc samc.

OR
a. f:xplain cntcred variabic rnap nrcthod. (05 \rur.ris)b' Apply Quine McCltrsky rnethocl to finci the essenrial prime igrplicanrs fbr.the Boolea.

expression (u, b,.,d): Im(l, 3,6,1,g,10,12,13, 14, i5) (07 Nrart<s)c' For the L'elow expression, draw the logic diagra- ,.i,.,g'aot togi. for niininral supr. Obtairr
nrinimal sum usrng K-map.

F(a.b.c.d):Im11.2.3.5.6.7.|.12.13..14. t5) 108\rar.ks.1

Module_3
a what is hazard? Listthe typ.t of huriffi!-Lur static 0 and static I hazard, (06i\rarkr-)b. Diffcrentiate bctw,ccn conrbinational ancl scqucntial circuit. (0(r \tartis)c. Inrplemcnt tire lbllow,ing Lrsing pl_A:

(0ll Ilarlis)
(06 r\lartrs)
(06,\larlis)

(06 llarks)
(08 NIarks)
(06 Nlarks)

(04 ll l rk s)

(08 l'l a rt< s)

(08 NIarks)

(013 )larlis)

(07 l\'la rlis)
(06 NIarks)

4

A(r.r.z) Irrr1l.l.
B(x, y, z) = Ln (0, l.
C(x, y, z): )m (2. 6)

4, (i)

6,7)

ORa. lmplernent the following function using g:1 ,rultiplexer:
, f(a" b, c, d) = Im (0. l. 5, 6, 8, 10, l Z,15)b' what is programmable logic unuyi Hou,does pLA differ fi.om pAL?
c. R-ealizc the follor.i,ing using 3;B clecoder:

ii) fi:r. r-:, c): Inr ij j,3.4) (ii) (a, b, 
"),- ).:.n i,-i.5. 7,

1al'.

ia .:itiis
:::,

6

(07 ft,Iarl<s)

I



7 ,t, \\rhat alc tirc rhrcc diftcrcnt rriotiels H*ffi.
an\ 0ne ntodel.
Denl'e characteristic equation lor JK, T, D and
Gir,c \rl lDL codc for 4:l multiplexcr Lrs

8

r,.. 1r'
'.t t,:

- . .1,1.:

11,

oduldrbody in VHDL

18CS33

example for
(06 Marks)
(08 Marks)
(06 Marks)

? Give

b

C

flopp

ai assign statc,r"nl;r*
,: .1. --..,"'''i

a. Using structural model, write VHDL code
tr. Dcrivc thc cxcitatior-r tablc for JK and SR

Ilop'.'
c. With losrc cliirgrar-n, explain JK flip flop.

Half Adder
flip flop. Ilorv SR flip. flop

(06 Marks)
is converled to T flip

(08 Marks)
(06 N{arks)

\Iodu le-5
9 a. Define coullter. Design synchronous counter for the st;quencc

tlip-flop.
b. what rs shifi rcgistcr/ with a ncat diagram, explain 4 bit paralrel

c. Write a nore on sequential parity checker.

a. With a neat cliagram, explain.ing ,ounr"?.R
b. Dcsign ar-rd irnplemcnt N,lOD 5 synchronoLls corrntL-r using JI(

ri ilr gra m .

c. \\/t'rtc ir ltotc on paral)cl aclcjcr rvith acc Lir.ntrlator-.

10

0, 4, 1 ,2, 6, 0, :l using JK
(08 N{arks)

in senal out shift register.
(08 NIarks)
(04 NIarks)

(06 NIarks)
tlip-f1op. Explain rvith tirning

(08 N,Iarks)

(06 tr'l arl<s)

{

2 of2
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arks: 100

dule.

(08 N{arks)
(0;l NIarks)

eranrplcs. Also. use

(()ll )larlis)

(10 Marks)
(10 Marks)

(tltl llur kr)
(()'l \'Iarks)
(t)t'l \larks)

-1

O
.2

a
3

=

-a)
-,)

1t)-=

z '''
a,
-r

,= C.I

- -1., i':
t;=)
-aa>

',. -
,) 2

-"
al) Caa

l.:
:9]

a' -L

-1

.);

ar),, ':a

=\
.a

at)a al)

u=
aV.--

ci.
_ r.)

a)

7.
a

a
c-
a

Third Semester B
Co

I-imc: 3 hrs

Note: Answer any FIVE full

1 With a neat diagram, explain
l'ixplain the overall SPIjC the
Explain one adclress , two and

artv o1' these instructions out C <* [A] + |B]

o.

b

c.

oR
2a. What is an addressing rlode? l::xplain the dil'f'erenl aclciressing nrocics \\'ith au cranrplc lirr

cac h.

b. F,xplain shift and rotxte operations, with example.

\IoduIe-2
a. What is direct nrenr()ry access, whcn it rs uscd'.)l:xplarn it wrth biock diugr.irrr.
b. Deilne the terms'c1,'cle stealing'and'burst rrode with respect to I)N{A.
c. Dcllnc bus arbrtratrorr L'.xplarr-r in cletarl curtralizaed bus arbitratron

al 6 nregab rt DI{AN{ chip conligured as 2M x 8 cclls

a. E*p
OR

functrons used in cache nlcmory
b. What is replacement algorithm.

Explain

0lt
a Wjth a block dragranr. explain how the keyboard is connectecl to prrccssor (08 )larks)
b [xplain the usc of a PCI bus in a computer systenr wrth a neat sketch. (ott Ntarks)

c. What are the design objectives of USB? (04 Marks)

Module-3
a. Draw a neat block dia-eram of memory hierarchy in a computer systenr" L)iscuss the variation

of size, speed and c:ost per bit rn the hierarchy (t)8 N{arks)

il lrxpiain the rvorl<ing o1'a single transistor dvnamic nrcnrory cciland internal orgrnization o1'

lain

(l2llarks)

(12 Marks)
(04 Marks)

diagram. (04 Marks)

Module-4
on the 5-bit signed numbe rs Lrsirrg 2's conrplcurcnt

C

7 a. Perfbrm the
rcprcscntat lon

fbllowrng operations
syst c nl:

i) (- r0) r' (- B)
ii) (- l0) - ('t,1)

iii) (-3) + (-8)
iv) (-10) - (+7) (10 trIarks)

b. In a carry look ahead addition, explain the generate Gi and propagate Pi functions fbr stage r.

Using this design explain 4 bit carry look ahead adder. (10 Nlarks)

1of 2



advantages.
an unconditional

and describe.

18C534

(l0 NIarks)

branch instruction.
(10 NIarks)

(10 \Iarks)
(10 \larks)

OR
tl l, I'cr'lortn thc signccl rlrrltrpliciitroll ol Illtmbers r I

parr rce ordin!.1 nrctltoil. L-isL lhe tables usccl.

b. Perfbrm cLvision olnumber 9 by 3(9 + 3) using

stcps o1' algorithm used.

9 Draw and erplain multtple bus o

Write ancl oxplain the control

10

a.

b

OR
a [)rau,tlrc block clilrgrrtln o1't]te control unit organtzatiorl

b. lrxplarn basic idea of instruction prpelining.

***+)k

lain its
of

I r:'

2 of 2
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I
are the differe

Ethics.
nt type s of soltr,vare

l8cs3s

proclucts'/ (06NIarl<s)
(06 l{arks)
(08 Marks)

Third semester B.E. Degree Examination, Feb./Mar.2022
Software Engihe'ering

Time: 3 hrs. Max' Marks: 100

Note: Answer any FIVE full questions, ckoosing ONE full question from each moclule.

3

4

5

6

a
;a
a-

,
-
-a
O
-O!

-,)) *
L-

i-

l)

-r-
-t

.=N

?aL

-a)

a>

.;, :

);
!=

a,ro

CP

):

t,i
=!a-
>,!
!r-(aL
=L1; -1

tr>.J
Ce
t) -f

a
c'Z

C

c-

1 Dcfi ne software enginecrtn g.a.

b.
C.

Explain briefly the So

List and explarn thc d

2 a. What arc thc
req Ll l rclrle n t

7

of Application Softwaies

OR

b

c

tal software proccss actir itics'l With Ircat diagrarn. cxplattr

ng process (08 N'la rks)

With neat cxplain Bohen, 's Spiral moclel. (08 Marks)

Explain riented Software E,ngineering. (04 Marks)

8

D

D

Module-2
a. What is object onentation'? Explain the charactcnstics of object oriented approach.(10 N{arks)

b. Definc modcl. Explain the thrce diffcrent rnodcls of object oricrttatiott. (10 \larl.s)

(10 NIarks)
(l{) \larliri

(10 Marks)
(10 Marks)

(06 IIarl<s)
(0ll )Ilrlir)
(06 \Iarlis)

(06 )larhs)
(Ott llarks)
(06 \Iarl<.s)

OR
E,xplain the tbllou,ing with suitable diagrams:
( i) Links arrd A:sociations
(ii) Ge ncralization
With ncat cliagram" cxplain the class mocle l of'a Winclow'inu Svstctlr

\lodule-3
With neat diagram, cxplain the context model for MHC-PMS systern.

Explain the state diagram of microwave oven.

oR
Explain the Rational Unilled Proccss.

Explain Design Patte rn r,vith Lll\''ll. tnocicl olthc gbscrvcr mptlct'

What zrre thc diffcrerit irnplementation issues of Softwarc Engrneering'/



18C53s

\Iodule-5
9 a. What arc thc factors aflecting the pricing o1'soflware product? (0,1Marks)

b. With ncat diagrarr, explain the project planning process. (06 \{arks)
c, With ncat diagram. explain the COC'OMO - ll estimation model. (10 Marks)

ott
l0 a. Ii.rplain tlrc proclucl standards and process standards in software quality managcurent.

(06 N{arks)

b. Erplain threc phases ol'software revieu'proccss. (08 Marks)

c [rpllrin thc t rrlirrLrs inspce tit,n ehecks in thc program inspce tion. (06 Marks)

,:,,: 
, 

,, .,: l

,,. l,ii,ii.. ..

, ::,'::",

2c:f2

d



USN 18C536

2022

Mar. Marks: 100

module.

(08 \lu rlii)

(05 Marks)
lirst or scconcl

(07 Marks)

t. "lf'n' is an odd intcger.
(06 Marks)

(07 Marks)

-fimc: 3 l"rrs.

1

Third Semester B.E.
Discrete M

Anil rs an student who
IS

O
a;
O-
c-

E

-
a
N

/t
!r, t

E:
I

,=N
e

-U

a>/:.
-d/-Cu

>,4
f) =)-
i- 7t

)a

.):
;c

,O
', l:a

LO

a-

at) "

; a)t,,

--.<
_N

a
a
7.
C-
f
a
c-
a

2 a. Give a

thenn+9
b. Prove the

(p -+ q),n
c. Vcrify thc given

p -+ (c1 -+ r)
tlV:S
I

o

.'. s-)r (07 Marks)

3

4 Determine

a. Prove that for
.7 ^2 -2| +l +5 +

each n e z'
,2-rn

b. Find
of th

c. Find how many

thc numbcr of
cre all ftrur'A' gcthcr? How many o

(07 Marks)
"MASSASALICiA". In ho',r, nrarrv

f them begrn rvith 'S'/ (06 Marks)

(07 N{arks)

(06 Marks)

digit integcrs onc can nrake from thc digit l, 3, 3,1.1 " 8

OR
*yr' ,rthe expansion of (2x -y - z)1thc co-efficient ofa.

b. In hor,v many ways can 10 identical pencils be distributed an.rong 5 children in tbllowing
CASCS:

i) Tlrcle are no restrictions.
ii) Each child gcts atleast one pcncil.
iii) The youngest child gets at lcast two pencils. (07 \Iarlis)
Fincl the nurnber of arrangements o['ail the letters in "TAI-LAIIASSIIE"'] Ilori' tttittty' tti'
tlrese arrangcmcnt have no ad.laccnt 'A's? (07 \larks)

c

lo12

GM,$ffiffiMH

111



Module-3
5 a. Lct I': I{ + It be dcfined by

[.]^ 5 for x>0t1r;=;
3x rl for x<L)

lind I'r10;, rrlt 1, tr1:;, f '(-3.;, lr1-{r), tr1;-s, s1.y.

b. On tl-re selZ't a relation'R'is defincc'l by aRb if and only if "a cli

that "R' is ccprrvalence relation.
c' Draw the Hassc diagram representing the positive divrsor of 36.

R
'R' on ,t\xA bi,

on AxA

18C536

(07 Marks)
vides b (exactly)" verily

(06 N{arks)
(07 Marks)

R (XrY2) if'ancl onl_v if

(06 Marks)

(07 Marks)
(07 Marks)

6 :t. Lct A ll, :, i, 4, 5f dclinc
Xr +Yr=X:*Y:.
i) Verify 'R' is a equiv

(XrYr)

ii) Determine the p induced by R.
b. Let A - 17,2, 3,4, 6 'R' be a relation on

multiple ofb" ation 'R' as a

C

(07 NIarks)

by aRb if and only if "a is
its diagraph and relation R.

7a.

b

8a.

C,

10 a

b
(l

the svste n'r allcr one clay
b. Solve the recunence relation

1 and a1 =l,1.
,, rrri.

9 are (Fig.Q.9(a)). toz Marks)

Er
C\

b. "A tree with 'n' vertices has n - I

c. ( orr:tnrct lin optirnal prcfix codc

Fig.Q.e(a)
". Prove this. Dehne a tree. (06 N{arks)
given sct of fiequencies,20, 28.4,11, 12"1.

(07 Marks)

OR
Explain cotnple te graph, Bipartite graph, subgraph, regu lar graph, spatrnint subgraph,
nrinimally connccted graph, with exarnplc fbr each. (07 Ntarks)
Applyrrcrge sofitothcgiven list -l ,1,1,11.5,-8. 15,-3,-2,6, 10,3. (06Nlarks)
Ohtrrrn rn optimal prcfir coilc for thc nrcssaqc "l.HTTFR Illr('lll\/l"rI)" inc'ltcatc thc coclc.

(07 \{arks)

edges
1br the

,k*{tir*
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Module-5
Define Isomorphism. Verify the given two graphs


